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                                                                 Table of 3 

3  ×  1 = 3                       

3  ×  2 = 6 

3  ×  3 = 9 

3  ×  4 = 12 

3  ×  5 = 15 

3  ×  6 = 18 

3  ×  7 = 21 

3  ×  8 = 24 

3  ×  9 = 27 

3  × 10 = 30 

_____________________________________________________________________________________ 

 

 

This portion is only to make them understand that how the 

numbers are increasing.  

 

3  ×  1 = 3      (3)                 

3  ×  2 = 6      (3+3) 



 

 

3  ×  3 = 9   (3+3+3) 

3  ×  4 = 12 (3+3+3+3) 

3  ×  5 = 15 (3+3+3+3+3) 

3  ×  6 = 18 (3+3+3+3+3+3) 

3  ×  7 = 21 (3+3+3+3+3+3+3) 

3  ×  8 = 24 (3+3+3+3+3+3+3+3) 

3  ×  9 = 27  (3+3+3+3+3+3+3+3+3)   

3  × 10 = 30 (3+3+3+3+3+3+3+3+3+3) 

 

Homework: Write the table of 3 in your maths copy and learn 

it. 

 

For any query     (Ms.Lynette Dey --  9382244371  section  A)           

                         (Ms.Antara Acharya – 9679823865  section  B) 

                         (Ms.Mousumi Darman—7908297233 section C) 

 

 


